
https://www.pass4itsure.com/h12-891.html
2024 Latest pass4itsure H12-891 PDF and VCE dumps Download

 

 

 

H12-891Q&As

HCIE-Datacom V1.0

Pass Huawei H12-891 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/h12-891.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Huawei
Official Exam Center

 

 

Latest H12-891 Dumps | H12-891 Practice Test | H12-891 Exam Questions                                1 / 3

https://www.pass4itsure.com/h12-891.html
https://www.pass4itsure.com/h12-891.html
https://www.pass4itsure.com/h12-891.html


https://www.pass4itsure.com/h12-891.html
2024 Latest pass4itsure H12-891 PDF and VCE dumps Download

QUESTION 1

When the IPv6 address of a host is configured with a stateless address configuration, and other parameters other than
the address are obtained through DHCPv6, how to set the M and 0 bits in the RA message ? 

A. M=10=1 

B. M=10=0 

C. M=1 0=0 

D. M=00=1 

Correct Answer: D 

 

QUESTION 2

There is a concept of FEC-Forwarding Equivalence Class in MPLS, so what criteria can FEC not allocate based on? 

A. Application Protocol 

B. Class of Service 

C. Destination Address 

D. Fragment offset 

Correct Answer: D 

 

QUESTION 3

In the use of the LACP protocol, the following description is correct ?( Multiple select). 

A. You can avoid the Eth-Trunk interface from frequently shaking interface eth-trunk 1l lacp preempt enable lacp
preempt delay delay-time with the following command 

B. Source IP address load sharing, interface eth-trunk1Load-balance src-dst-ip, can be configured in an enabled link
aggregation group with the following command 

C. The member interface can be removed from an enabled link aggregation group with the following command: interface
GigabitEthemeto/0/1 Shutdown nterface Gigabithemet/O/1undo eth-trunklinterface GigabitEthemet0/0/1 undo shutdown 

D. A chain cluster that can be initiated through an order Join the member interface :interface GigabitEthemeto/0/1
shutdown interface igabitEthemetO/0/1 tunkportGigabitEthermet0/0/1 interface GigabitEthermet0/0/1 Undo shutdown 

Correct Answer: AC 

 

QUESTION 4
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The default configured switch has an empty MAC address table at this time , and Host A connected to the switch issues
the first unicast data frame, so what will the switch do after receiving the teaching system? ( Single choice questions). 

A. The switch will drop the data frame 

B. The switch records the source MAC address of the data frame and floods the data frame 

C. The switch will forward data to interface 

D. based on the mesh MAC address of the data frame The switch caches the data frame and waits for the destination
host to send the effect frame before forwarding it 

Correct Answer: B 

 

QUESTION 5

A campus deploys OSPF to achieve network interoperability, and an engineer configures R2 as shown in the figure,
then the following description of the LSA in the OSPF network is wrong 

A. There is no Type3 LsA flooding within Areal 

B. There is no Type3 LSA flooding in Area2 

C. There is Type5 LSA flooding within Areal 

D. Area2 contains Type5 LSA generic adverb 

Correct Answer: A 
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